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import numpy as np
from sympy import *

from sklearn. preprocessing import Normalizer

def steepest descent direction():
B WEALE
x1 = symbols("x1”)
x2 = symbols("x2”)

# RImF
difyL x1 = diff(f, x1)
difyL x2 = diff(f, x2)

# SRAEZH E RN B R 57 )
difyL x1 = difyL x1.subs([(x1, X 0[0][0]), (x2, X O[1]1[0])])
difyL x2 = difyL x2.subs([(x1, X 0[0][0]), (x2, X O[1][0])])
P = np. array ([[-difyL x1],

[-difyL x2]

D)
print ("f 7£ X0 B TR \n’, P)

# UHEAZTT A B A )

P trans = np. transpose (P)

scaler = Normalizer().fit(P_trans)

P scaler = scaler. transform(P_trans)

e = np. transpose (P_scaler)

# oM
X1 =X0+e

# HArRBUE
f X1 = f.subs([(x1, X 1[0][0]), (x2, X 1[1][0])])
print CHFIX AN B — AN KE A S EARREE N 7, £ X1

if name == main ’:
x1 = symbols("x1”)
x2 = symbols("x2”)



f=3%x1 %k 2 -4 % x] % x2 + x2 %k 2
X 0 = np. array ([[0],

[1]
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steepest descent direction()



